Final Exam Version A
Math 222 Fall 2022
December 14, 2022

Nomo: - Tvan Rlonk

Recitation Time and Instructor’s Initials:

You may not use any type of calculator whatsoever. (Cell phones off and
away') You are not allowed to have any other notes, and the test is closed
book. Use. the backs of pages for scrapwork and if you write anythmg on
the back. of a page which you want to be graded; then you should indicate
that fact (on the front) Except for the last page Whlch is the cheat sheet
(and Whlch you should not hand in) do not unstaple or remove pages from
the exam. = A

By taking this exam you are agreeing to abide by KSU’s Academic In-
tegnty Policy. o

Slmple or standard su,nphﬁcatlons should be made, Box your
ﬁnal answers when. it is reasonable. You must show your work for every
‘problem, and 1n order to get cred1t or.partial cred1t your work must make

sense'
MAY THE FORCE BE WITH YOU YOUNG JEDI'”

Problem P0581ble Score | Problem | Possible | Score
1| 1 6 | 15
2 14 7 15
3 15 8 18
4 16 9 12
5 15 10 15
Total 75 75




1. Here is a vector which you can assume has unit length:

Call this vector #@. (You should assume that this page is in a plane, and
all the vectors that you draw in this problem are also assumed to be
in the same plane, so there is no perspective to worry about! Stated
differently, you are not drawing a picture of the vectors. What you
draw are the actual vectors.)

Using the same base point draw a vector @ (and label it) so that the
following are all satisfied:

(a) |U7| =
(b) @ x W points away from you.
(c) Iﬁ W] =~ v/2/2. (Try to make it as close as you can.)

Next using the same base point again draw a vector ¢ (and label it) so
that the following are all satisfied:

| ”1

a)
b) Ge 7= —\/- 2/2. (Again, do your best to get equality.)
c) 4

A/'\/-\

points toward you.



2. Short answers ... Intuition and Understanding

o . |
(2) What is the curvature of a circle with radius 167 E

(b) Let €; be the solid cylinder

O o= { (z,9,2) : P +12 <4, 3<z<7} e

and let Q) be the cube S] (O SL a— ¢
Y ={(z,,2) : 0<s<20<y<2 0<z<2}

Assume that f (z,y,2) is defined to equal 3 for all pomts in 4,
is deﬁned to equal —4 for all pomts in Qz, and is deﬁned tobe D
everywhere else. Compute '

/ / / fz,y,2) dz dy dz .
—20 Jy=-25 J2=—30

=\Ll(U) > * \{0\(&3-3 | q,ﬂ - m g LU S &3 (4)
= 16(RT - &) =HgT 28
(c) Will the line integral
| 5@z as

typically give you the length of the curve C? Explain your answer
in two sentences or less.

Not unless +=1 of‘g'} CDiflddeﬂCQ n@
g 4

(d) What is the average value‘of the functlon f(z,y) =2z+4y on the e /
rectangle —1 <z <5, 2< y < 47

;”S P& \10»\ \a
T ondedy = ¢ (o dy | <
YFh A=



3. Short answers ... Definitions and Theorems

(a) Suppose that V£(0,0) = (0,0), and fsz(0,0) and f,,(0,0) are
both positive. Do you need anything else to conclude that (0,0)
is a local minimum? (If yes, then what exactly? If no, then why
not?)

L\} amr AA{? ,;3 /ou. oo d\
Do, ) 'F (oo)f\,(oo‘) ;PXY(OOWO

.-r_.

(b) If f is a continuous function on the circle (z —1)* + (y —2)* = 7%,
then can we know from a theorem that we learned whether or not
f attains an absolute maximum and absolute minimum on that
set? Why or why not?

11 doez. Tre cincle i<
Flosed & wouided.

(c) Assume that you have been given a differentiable vector field de-
fined in the region {z > 0}. How can you quickly tell if it is
conservative there?

0 s curl s 2 0007
Hhen it s conserdiile



4. A certain differentiable function satisfies:

(&) f(5, —3) =_17 a'nd f(_6a4)= 2.
(b) V£(5,3) = (9,7), and Vf(—6,4) = (8, —7).

At each of the two points in question (i.e. at (5,—3) and at (—6,4))
answer the following questions:

(a) In what direction is the function increasing the fastest'?

N <q47> = _Sjizz 1 o <<3 '—’T)
- T ﬁi T8

(b) What is the rate of change i\111 that direction?

J1z0 -j\ Jo4 e

(c) What is the directional derivative in the direction of the vector
(3, —4)? (Note: I did: not ask for the directional derivative in the
direction of the point (3, 4) )

DE(:: \V/ NG
=<4,

o0 =<8, T7* —5
=

_ T H e
= 3. Ao+

= eeen

il
S

(d) What is the tangent plane and/ or the linear approximation at
each of the two points?

Z: 1+ Q(X—S)"‘7(\f'*5)
Z=Q+ 8-()(*’(0\)"7‘[‘(‘/40



5. Find the maximum and minimum of the function
f(z,y) =6z — 2% — 4y — ¢

on the set
glz,y) =1*+ 4> <117=13-9.

Show your work, and give a short explanation of what you are doing.
(No essays, please. Just a few short words in the right places will

suffice.)
5"'@{) 10 Assure $< 117 . Look for CPs

cef NF=0
= <G-ax, ~H-3y>

Step 8 Assume 0= W LooK for C(Ps
Use  Log. Muftis. Set VNG

— — P

?’“}i%: <&x,&\/> x#20, N 70
Qa-x) = Ax\ = e
2a-y) = QYA
Al-a-y)y= 8y/ SYEONERRSL
X& + Ya: \'3) O\ 7
- T13y=-dX

X L= 18-948-4-a%1=13  Mox
()= S4-R1+a4-3= -39

A+ dxt= 9 ;QLO\) ‘)

q 9 / \?(“(\,(o): ~34- gl -au -3(= —\a5 Min



Pic Ton \/ O\bO\! ¢
¥ > N

3(\0 (‘\ﬂg X2D Af
6. Let S be the part of the set

z= \W —-*F-—‘w'--"‘r’")l \: X
with z < 4 and z > 0. i“”
Express the integral of f(z, y,2) = z* over S as an iterated integral
(i.e. a double or triple mtegra,l) over a subset of IR? or IR? which has
constant bounds of integration. You do NOT need to find this inte-
gral.
(\Lu)\]) = (ucﬁgv) u&u’W,A ) Deus ‘7'1, 3\-\/5 2
B N S
{)‘ :
?-:! = <-udiny, USY, O?
K = tpaV — USIVN ) U v
N - <" ULDSY, £
Nl= [+l = uiR
’W‘
> oa ay. Ul dvdu
% % @A = % 3 wees
uq,() \/= ’__

4
-a < 2B oSV AV Au

W=0 =

1l
2)5)



7. Let C be the “horizontal zig-zag” given by the (finite) sequence of line
segments that goes from (1,1) to (2,0) to (3,1) to (4,0) to (5,1) to
(6,0) and finally to (7,1) where it stops. Let

F(z,y) = (2™, 2ye™) .

Compute

I:Lﬁodf’.
\ . a 3K
Py iy 7 Py

A )
o s coNSenia. e

= B
f:g A dx = 7&8x+ CC\/B
o Caydy = Y€ CW

F= V)

Q) A




8. Let @ be the set: =
{(@y,2) : 2 +y*+2° <9, andy >0}
and let Q be the boundary of this set. Let
F(z,y,2) = {log(2+ y* + cos 2), 12, z?e™ ) .

If 7 is the outward unit normal to-this region, then find

/faop ndS.._-— SSQW FAaV=1T
P\vfm w/o (DnThm: &y

T .
) g g Q & p3ingsing - (F sing O%Pdedd’




9. Let C be the piece of the graph of y = z? which is between z = 0 and

x:z_Let )
.F‘::.<3y7 1)

1= F_‘.odf’__
ey

and compute

2
L= s, Lye<nan ot
O

@ (2f+at) dI
=0
a

= USW&)/'

0

= 3tY
= |d

Plil= (4,19

O 4143
F{(ﬁ = <ij&f>

Fi,f—b?f():,:j

NOT
Conserv,



10. Let E be the set

{(@y,2) : P +12<2<4, 50}

Find I:///zdv C\/l Coo(dg ‘

fﬁ_ﬁh"ﬂ#Wﬂ T ) x - “%t q,,_ﬁ
% % (*(;%Sd?(*“rie’ I g e rdrdad
9-’1% =0 7= ra ! (9:%T 2=0 y\-;ol/&
£ & | o %\‘ H *(\3 Z
: S&Cﬂsede g 2. (4~ | < cmed@% = dz
3 | -/ )
. e P B T
r=0 | 5
| ! | O
2 Hm_‘fi> —A-@.—.'iz%
= TA T 8/, =~ 3§
( : 0 | S o
. R s _ -3
~Q@<L—¢>«_:@Z ::_T%.;g-_@.
) S 3 15 |



Integral Definitions and Basic Formulas:

Line Integrals:

b
/ F(f) e di = / F(7(t)) e7(t)dt,  Orientation Matters!
/ f(F) ds= / fF®) |7 ()| dt,  Orientation Doesn’t Matter!

/ f(7) dz = / f(z 2(t)) «'(t) dt Orientation Matters!

Surface Integrals: With N =7, x 7, # 0, and with 7(R) = S we have

//ﬁoﬁ ds = // F(#(u,v))eN(u,v) du dv  Orientation Matters!

s R

// f(¥) dS = // F(F(u,v)) ||N(u,v)|| du dv  Orientation Doesn’t Matter!
S R

Spherical Coordinates:
z = psingcosf y=psingsing z= pcos¢
dV = p*sing dp do df .

Second Derivative Test: Suppose the second partial derivatives of
f are continuous on a disk with center (a,b) and suppose V f(a,b) =
(0,0). Let

D = D(a,b) = fzla, b)fyy(a>b) — fay(a, b)2 .
(a) If D >0 and f,(a,b) > 0, then (a,b) is a local minimum.

(b) If D >0 and fz(a,b) <0, then (a,d) is a local maximum.
(c) If D <0, then (a,b) is a saddle point.

Cheat Sheet Bonus:
1 + cos(26)

1—
cos® 0 = ==, sin?§ = —%L(QQ, sin(26) = 2sin 6 cos 6 .



